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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 998 6.1 2.9 9 67.4 100
3 988 8.2 3.2 11 74.6 99
5 933 2.9 3.6 9 32.1 93.5
7 975 5.8 2.4 11 52.8 97.7
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Sticky Note

This candidate obtains the correct 
z-values but is unable to use them correctly.
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Sticky Note

This candidate is treating a normal random variable as if it were discrete.
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Sticky Note

This candidate obtains correct z-values but is unable to use them correctly.










Let X=weight of a man, Y=weight of a woman

(b)
zl=68_65=1.5 MI1A1
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(b} Determine the probability that the weight of a randomly chosen worman lies between 64 kg
and 68kg. [6]
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Sticky Note

This candidate obtains the correct mean and variance and then the correct z-value but then uses the wrong table (Table 6, the exponential function) to find the probability.
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Sticky Note

This candidate uses an incorrect variance formula.
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Sticky Note

This candidate shows no working and therefore, in accordance with the rubric on the examination paper, gains no marks.
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{c)  One morning, 3 men and 4 women hire a boat which has a safety limit of 500 kg. Calculate
the probability that their combined weight exceeds the safety limit. You may assume that
the weights of the 3 men and 4 women are independent. [B]










Question
number
Rhif y
Cwestiwn

.

a) X R( 20, 0- Y

P(X>8) =0-58ul

BoD

/\ Z N

2>

130

D-Vall 12 > 005 HQ  cannatc

N conhe i

7 y
redec)cecx.
0

Leave
Blank
Gadewc
yn wag

B
M

AO,



Sticky Note

The candidate fails to give an answer in context.
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Sticky Note

The required wording here is that 'there is insufficient evidence to reject H0'.










Question

Leavi
number Blank
RAhif y Gade
Cwestiwn ? yn we

4| X ~R(20, @ &) _
Ey) = F Bl
Clihcenl  (feuipn - Px £ 3) M
Ol X ~R(170,0.4) — X~ (4 ZZZ) RO
] ( -
P(X 268) —<= 5 (X »sa¢)
M
Plz>sas.ax ) - P(Z3x1z1) |
\ s/
Ll-P(Z2<ln)
A
| - OTBHZE
= 0. 1\3g
@ No conduwsen BC




Sticky Note

The candidate fails to give any conclusion.










4(a)

(b)

Under Ho, X is B(20,0.4) si

P(X >14) =0.0065
X > 14 has significance level closest to 1%

[P(X >13) = o.ozloj

Let Y = number of hits
Under Ho, Y is B(120, 0.4)
~ N(48, 28.8) si

54.5-48

\/28.8
=1.21
p-value =0.1131
Insufficient evidence to conclude that his shooting
has improved

Test statistic =

Bl
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Award M1 for valid attempt at
using tables
Award M1AO0 for 13 or 15

Award M1AO for incorrect or no
continuity correction but FT for
following marks

No cc gives z =1.30, p = 0.0968
Wrong cc z = 1.40, p = 0.0808
FT the p-value
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When Edwin shoots an arrow at a target, he hits it with probability p = 0-4.

Successive shots are independent. He attends a course to try to improve his technique and he
wishes to test whether or not the course has succeeded in doing that. He defines the following
hypotheses.

Hy:p=04;, H,:p>04

(@) He decides initially to shoot 20 arrows at the target and X denotes the number of these
shots which hit the target. Determine the critical region having a significance level closest
to 1%. [3]

(b) He decides to carry out a further test in which he shoots 120 arrows at the target. He
finds that 55 of these shots hit the target. Calculate an approximate p-value and state your
conclusion in context. [7]











